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Question Answer Marks 

1(a)(i) increased 1

1(a)(ii) 18948–9319 (1 mark) 
= 9629 (1 mark) 
 

2 @ 1 mark 

2

1(a)(iii) Ideas such as: 
There are more/large numbers of immigrants and few emigrants ; 
Jobs/work/better paid; 
Politically stable/not at war; 
Health care services are good; 
Education facilities are good; 
Food supply is better; 
Water supply/sanitation. 
Etc 

3 @ 1 mark 

3

1(a)(iv) Difficulties such as: 
Dangers on journey; 
Obtaining paperwork/work VISA/political restrictions/threat of deportation; 
Cost of moving; 
Finding somewhere to live/poor quality housing/shanty towns or examples of 
problems within them e.g. poor sanitation; 
Language problems; 
Jobs are hard to obtain/low paid; 
Racial/religious discrimination/hostility/not hired because are immigrants; 
Away from family/friends/don’t know people; 
Hard to adapt to/different culture; 
Can’t practice religion/adapt to different religions; 
High cost of living/can’t afford food/schooling/healthcare/water/rent. 
etc 

4 @ 1 mark 

4

1(b)(i) Larger/bigger population in China (than in Nigeria); 
Growth in both countries up to 2020/30/initially; 
More rapid growth in China than Nigeria up to any date before 2016/initially; 
China expected to decrease/decreases later but Nigeria doesn’t/decline in 
China predicted after 2030 but growth continues/speeds up in Nigeria; 
Growth in both countries overall; 
 
Supporting statistics which need to be comparative and must use `billions’ 
in answer (MAX 1 RESERVED) 
One date and two statistics or a difference in growth rate statistic for first line 
of markscheme, but two dates each with two statistics for other lines in 
markscheme. 
 

3 @ 1 mark 

3
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1(b)(ii) Ideas such as: 
Low use/lack of/lack of access to contraception/cannot afford 
contraception/family planning; 
Lack of knowledge of/information about contraception/impacts of large 
families; 
Religious issues which encourage large families/object to use of 
contraceptives; 
Traditionally people want male heirs; 
Children are often used to work in fields/send out to work from a young 
age/work in family business/at home/economic assets; 
Children look after elderly relatives/no pensions available; 
High infant mortality rate/many people have more babies in case other 
children do not survive; 
Women not educated/don’t have careers; 
Emancipation/womens rights; 
Polygamy. 
etc 
 
5 @ 1 mark or development  
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1(c) Levels marking 
 
Level 1  (1–3 marks) 
Statements including limited detail which describe positive and/or negative 
impacts of migration on destination country. 

 
Level 2 (4–6 marks) 
Uses named example. 
More developed statements which describe positive and/or negative impacts 
of migration on destination country. 
 
Note: Credit development of impacts and not causes. 
 
(Note: Max 5 if no named or inappropriate example) 
 
Level 3 (7 marks) 
Uses named example. 
Comprehensive and accurate statements which describe positive and 
negative impacts of migration on destination country, including some place 
specific reference. 
 
Content Guide: 
Answers are likely to refer to: 
• Labour supply 
• Many immigrants will do dirty/low paid jobs 
• Cultural understanding 
• Provision of services e.g. ethnic restaurants 
• Increases size of market for local businesses 
• Racial tension; 
• Pressure on employment 
• Pressure on services e.g. health care, education 
• Need for more housing/creation of ghettoes etc 

 
Place specific reference is likely to consist of: 
Named parts of the chosen country, 
Countries where migrants have arrived from, 
Population data etc    
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